PIEMEFEALR—IVERBATEAF A b

(BEHAs)

o#l 3 3H108R*E

R % a = fm &
AR=IL | AR=)b
1.5KWILHRILL Y X2y ~ FQ1500w 10 5.1Kg
1 KwhYL > Xy b TS-C8A 20 8 11.1Kg
500w hYL > X2y TS-C4 8 3 3.1Kg
TS-C5 4 3.6Kg
500WILRILL > X2y ~ TS-F6 8 4 3Kg
2w 2Ry b TFS-F6 8 4 AN
Par54 k500w (N) PL-10 8 4 3.4Kg
Par54 k1000w (N) SPHI 8 2 3.9Kg
1KwIOZ 194 — 2k~ EPQ 2 7.9Kg
PIS 1 10.7Kg
FARIIS—> 2 1 4.9Kg
HAITNIS—> 2
254 REvUT7 1
Iy NT7HTH— 1
I\ RT 8 2 81 F
E£E 4 2 1 Ak
6 1 1 R
8 2 1 Ak
12 2 %
16 1 1 I
20 1 1 IR
24 1 1 I
A= 1 LN
BN —> 2 Ak
RSLYS—> 1 IR
ZROAR KM-14R 2 ERELIRH
E—-3vIX 1 A%
ZS5—R-Ib 300mm
450mm
i
ANYT 51~ 100W x 124T 6 2[0]E%
100W x 44T 2 2[E13%
ARSY 16 pakis)
8| AE
=y EMIN 20 9| FvxH—1t
4 3| FvYAI-12U
J\ AR R 3
I\>H— 32 12
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PEMERALR— VRS (FBahikts)

o#l 3 3H108R*E

Hm% % 8 "=
AR=IL | AuR=)L

H5<E 2 1| FT1AIRICH
b 2 1| FT1AIRICH
55 2 1| FT1AIRICH
S 2 1| FT1AIRSIH
FAE 2 1| FT1AIRSH
KR 2 1| FT1RAIRSH
R 2 1| FT1AIRICH
& 2 1| T4RAIRSUH
(FDH 2 1| T1RIRSUH
KE 2 1| T1RIRSUH
AR 2 1| T1RIRSUH
FHIR 2 1| FARIRSA
1 1| /1hyhHA
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PEMERALR— VRS (FBahikts)

o#l 3 3H108R*E

Bm& . & B X fm &
A=) | K=
) A-A 4chVILF 2 7y h LHFE

A-A 10m 10 3

A-A 5m 5

A-T 10m 15 4

A-T 5m 20 9

A—-F1T 3

T-T 10m 10 1

T-T 5m 15 4

T-T 23—-h 25 4

T-A 2

A<A TR 3

AT —f% 7

ALT =% 3

T<T Zf% 20 10

I—-SA "% 6
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